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More examples with trig powers: 
sec x
tan2 x

dx∫
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



sin 4 x cos5 x dx∫  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

tan 3 x dx∫
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 

sec5 x tan x dx∫
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Integrals involving Sine-Cosine Products with Different Angles 
 
If you are given one of these where m ≠ n  
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    Use these formulas: 
 

 

( ) ( )[ ]

( ) ( )[ ]

( ) ( )[ ]BABABA

BABABA

BABABA

++−=

+−−=

++−=

coscos
2
1coscos

coscos
2
1sinsin

sinsin
2
1cossin

 
 
 
 



cos(2x)sin(3x)dx∫  
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1. Rewrite  sin (5x) sin (3x)    2. sin 5 x( )sin 3x( )dx =∫  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



8.3 Trigonometric Substitution 
 
1) Given an integral involving a 2 − x 2  use  x = asinθ  . 
          
 
 
 
 
 
           
 
 
 
 
 
 
 
 
 



2) Given an integral involving a 2 + x 2  use  x = a tanθ  .   
          

               
 
 
 
 
 
 
 
 
 
 
 
 
 
 
                     
 



3) Given an integral involving x 2 − a 2  use  x = asecθ  . 
          
              
 
 
 
 
 
 
 
 
 
 
 
 
 
 
	
  
	
  



For the following, what substitution should we use? 
	
  
	
  
	
  
	
  
	
  
	
  
	
  

 
 
 
 
 

 
 
 
 
 
 

9 − x 2

16 + x 2

x 2 − 4



Popper11 
3. For x 2 − 1 dx∫     x =? 
 

4.  What substitution should be used to compute 1

x 2 − 9
dx∫ ? 

 

5. What substitution should be used to compute 1

x 2 + 4
dx∫ ? 

 
 
 
 
 
 
 
 
 
 



Examples: 
 
1. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

9 − x 2 dx∫



 
2. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

x 2

x 2 −1
dx∫



3. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

x 2

4 + x 2
dx∫


